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Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.
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1. Processing of Liability Claims is done in three phases. Describe these 16
phases.
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. What is the meaning of :
a) Punitive damages _
b) Structured Settlement
" ¢) . Onus of Proof
d) Negligence
_e) Nuisance
- f) Special Damages? ,
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a) Mention six exclusions (other than war and nuclear risks) of public 6 each
liability policy for industrial risks. )
b) Give reasons for each exclusion.
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What are the provisions in Public Liability Insurance Act, 1991 relating 6 each
to: . '

a) No-Fault liability

b) Compulsory insurance ?
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Mention six general questions in a proposal form for non-mdustnal 6 each
risks.
Mention six questions relating to schools.
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Describe the cover under workmen’s compensation policy.
Mention the two exclusions under the policy which can be covered
at extra premium,
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~ Why is ‘Excess of Loss’ treaty'insurance used for liability insurance? 6 each
Explain how this treaty operates. :
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8. Wnte a detailed note on The Consumer Protectnn Act, 1986
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9. Describe in detail exclusions which are specific to Products Liability
Insurance Policy. -
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i) 9T % R = 25
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10. MJs. Sunflower manufacturing private Limited, Thane, has submitted the
following information. ' :
Limit of Liability required AOA Rs. 30 lacs. }

: AOY Rs. 90 lacs.
Number of units 5 Wants to cover Pollution Extension
Turnover of all Units Rs. 250 crores
Basic Rate . 0.37%o (per mille)

Ratio 1:3
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The Multiplier factor for ACA Limit (Rs. 30 lacs) is as under :-
. Factor -
Up to Indemnity Limit Rs.25Lacs =26
Up to Indemnity Limit Rs. 30 Lacs = 25

) Multiplier for multiple unit = 2.5
iiy Turnover Extrais 120% of premium Rs. 91,800.
iii) Pollution extra is 30% of Total Premium.

Calculate the premium for industrial risk.

AG T4




